5ZAl - T RIAD#ET R (AL At A7 - A)
(ORGESAS IR ey A 4 B Lt

| nEA=Y N 1,465 702 717 748
[ENS N 1,783 854 840 943
| AN NS 841 433 414 427
T iR i K 215 100 104 111
JNET AR 1,113 500 537 576
AR AR 1,067 475 513 554
bl AR 816 379 398 418
) = 783 401 366 417
FLER AR 504 217 251 253
/NEF FnitE 555 260 268 287
FoiE FitE 1,095 442 538 557
FiE 4 e FitE 824 387 408 416
Fnsf e e FifE 517 229 245 272
FhiflE e FitE 523 274 227 296
FniEdb e FitE 1,086 482 538 548
0 =k Fif 1,980 901 935 1,045
SR FifE 234 107 114 120
fiEH —TH Fni 452 174 225 227
filiEEH —TH Fni 455 176 232 223
filEH=TH Fni 469 168 245 224
FH—TH /N 605 296 284 321
FH_TH /N 743 362 349 394
WME—TH /N 516 2217 233 283
M5 _TH /N 560 274 250 310
KH—TH /N 833 404 387 446
KHZTH /NP 947 469 443 504
#1150y Bl 40 20 23 17
B)IA Dy Bl 24 15 12 12
) AT =) 33 16 18 15
#5117y Bl 41 23 17 24
)1 Bl 17 8 9 g
#1105/ AT Bl 34 19 13 21
)1 EAT Bl 21 11 9 12
)11y Bl 30 19 15 15
G LI FEHI T F&ESL 173 80 82 91
(AR VA4 SRE ] Ak YA 214 91 107 107




SRl - T RIADHETR (ALAEHE - A
(%f%ESﬂEH?l%EI %ﬁ'}\ M) 221K JNE| LR BB oMk

AL AR HIRT [FARYA 58 25 29 29
A L ALAE HIET [EAlrYA 97 49 42 55
L T AEHIET [EARCAYA 327 211 200 127
NP T [EARrYA 411 184 204 207
D 37 L REHEHT [EAR YA 121 57 54 67
ST T BEERT [EARCAYA 406 218 203 203
(Al MY AE AL AL YA 133 66 60 73
WEAD T [EARC YA 904 282 456 448
FCEPHA) | HT =iy 101 49 48 53
FLHP 52 T =iy 28 12 13 15
ELHPAS [T HT =H 191 64 83 108
= —TH =H 1,394 611 681 713
=TT H =H 1,146 530 557 589
HIF=TH L 62 31 31 31
HEFUTH =H 359 174 181 178
2T H =H 1,974 861 957 1,017
HEPRNTH =H 939 339 449 490
HEFPER—TH =iy 423 194 196 227
HEPEA T H iy 13 6 4 9
HIFEM=TH =1y 95 46 17 38
B2 REF—TH =iy 619 281 318 301
=R T H iy 14 6 8 6
1] 5T =k 416 191 192 224
F2EHT =k 1,047 671 537 510
AE [ T =k 954 254 245 309
17 JE T =ik 1,054 457 509 545
[ LELI) =ik 755 344 368 387
15 FnHT =ik 1,004 453 476 528
izill =ik 1,223 545 585 638
BH—-TH X H 2,342 998 1,164 1,178
BH_TH EXH 14 61 45 29
ABEH—TH X H 1,148 559 542 606
AEH_TH EXH 1,135 508 551 584
ABEH=TH EXH 1,481 740 697 784
AEBHIUTH EXH 2,213 1,070 1,075 1,138
ABEHTTH EXH 1,016 509 474 542




5ZAl - T RIAD#ET R (BAL: 5 - A
(ORGESAS IR ey AR 455 4t Lebt

AKEEHANTH B 2,636 1,028 1,294 1,342
~X)IN—TH EX 1,209 560 612 597
KJIZTH BX 36 22 19 17
KJI=TH BX 376 189 183 193
ASEBH—TH BX 571 246 283 288
AW TH BX 2,793 1,400 1,373 1,420
ASEH=TH BX 585 290 296 289
MAZTH AR 704 324 326 378
AR=TH A 160 73 82 78
AR T H A 341 142 168 173
MAFETH A 258 108 118 140
PARSNTH AR 317 139 151 166
ARETH AR 61 25 34 27
MAROE—TH MADH 710 324 360 350
MAROHE " TH MADH 547 231 258 289
MAROE=TH MADH 397 184 194 203
PIAROEIT H RO R 1,198 481 574 624
PAROE LT H A DR 338 151 160 178
PARDOENRT H A D EH 598 271 289 309
PAROEET H A DR 698 287 335 363
~KJI—TH IEN2EY 417 157 205 212
KIIZTH PIEN2EY 1,041 456 488 553
MARDEKR—TH IEN2EY 1,040 378 529 511
MADOEHR _TH PIEN2EY 944 325 455 489
MADOEHR=TH IEN2EY: 241 107 114 127
ko L T AR 5 15 5 10
AROEIRET H PARD BT 681 298 325 356
IAROBEEAT H A D B 463 206 228 235
MAROERET H PARD BT 970 403 461 509
koA T A AR 702 305 348 354
HeEE =T H WIARD 242 85 127 115
HEJE—TH UIEN2EY: 324 130 149 175
HEEJL T TH A D B 1,487 599 739 748
HE—TH HEEE 358 185 174 184
MEZE—TH HEEE 392 193 194 198
HEE=TH HEEE 836 359 381 455




B4Rl - BT RIADMET R (BAL: 5 - A
(ORGESAS IR ey An i85 P febk

HEET B e 305 113 148 157
HZEHTH == 968 419 464 504
HEZOSTH HE=E 1,407 680 651 756
HEAe—TH HE=E 543 230 266 277
KB T e 13 9 7 6
TH—TH A 229 112 105 124
TH T H e 42 28 23 19
TEH=TH e 49 26 22 27
mE—TH HE=E 195 94 105 90
WE_TH SR 929 536 463 466
mE-TH HE=E 43 33 27 16
HEG—TH =) 898 429 413 485
HA T H #h 881 423 419 462
EFE5=TH =) 968 454 459 509
HEBMTH =) 785 391 364 421
SAANT ik 12 12 0 2
BA—TH YA 1,116 529 530 586
WA_TH WA 1,459 622 668 791
WA=TH PA 3,163 1,301 1,479 1,684
WA T H PA 507 245 246 261
WAHTH PA 588 332 280 308
WAKRTH WA 1,498 721 736 762
AL T H ik 1,901 021 917 084
WANTH WA 793 407 362 431
DT Tk 870 426 412 458
THRA—TH TRA 1,473 641 740 733
THRAZTH TRA 1,191 470 597 594
THlRA=TH NS 1,785 642 883 902
THAN T A Tk 862 378 408 454
THRAHRTH TRA 1,434 588 717 717
TRAARTH TRA 2,245 929 1,072 1,173
tegtt—TH THRA 1,261 521 634 627
e TH TRA 754 400 353 401
WAs—TH JE IRy 108 68 38 70
fEs— T H FE IR 1,608 784 774 834
fHiR T 8 JE I 906 420 413 493




B4Rl - BT RIADRRETER (A - A)

(ORGESAS IR ey An i85 P febk
fEiR =T H JE I 1,071 576 477 594
I T B JE 833 366 409 424
YA HT FE IR 790 330 369 421
AAK—TH JEIRF 556 277 269 287
AKX _TH JEIRF 757 388 367 390
AK=ZTH JEIRF 350 172 172 178
THRA—TH JEIRF 362 134 177 185
WEE—TH FE IR 833 407 379 454
BEE T H JEIRF 677 317 330 347
WEE-TH FE IR 510 257 260 250
WA EN T H JEIRF 1,170 463 576 594
HA—TH PR 736 353 333 403
At —TH JEIRF 869 397 388 481
BJI—TH JE I 97 70 50 47
Il TH FE Wy 935 442 463 472
BJI=TH JE I 841 435 399 442
E)INT H FE Wy 628 262 305 323
B FalT JE IR} 1,026 441 487 539
S T J5 I 842 458 397 445
B7RE—TH Ay 1,166 643 549 617
PSR —T H Ay 842 454 377 465
BAEFRT T H Ay 1,574 706 735 839
#hfk— T H Ay 884 463 436 448
ik — T H Ay 673 330 324 349
k=T H A 719 354 347 372
N/ oy 423 194 190 233
W73k oy 1,648 798 792 856
Hepger T Py 241 126 104 137
MAEE—TH W 655 315 318 337
MEE_TH oy 551 283 264 287
MEE=TH Py 1,163 507 535 628
HHEMTH sy 804 363 393 411
R RbHT g 559 274 258 301
AE—TH iy 110 69 51 59
B — T H W 630 248 318 312
T H P 880 411 420 460




5ZAl - T RIAD#ET R (BAL: 5 - A
(%f%isﬂﬂ%ﬁﬁ £EAR) B2 T ) e

wj—TH Ay 852 362 409 443
BN TH Ay 917 425 439 478
BN R 801 394 375 426
T A 9 5 4 5
Eapa= il W X X X X
i LMY A 874 400 406 468
THa& R 271 136 134 137
(LI T (L A 120 60 54 66
HECE—TH (L A 706 340 318 388
HECE—TH (L A 909 436 442 467
WECE=TH (L HAE 933 462 471 462
RARHT BEE 347 193 162 185
B4y iy BEE 621 328 307 314
g PR LT 2 659 376 327 332
e =) BEE 1,003 479 496 507
S HT BEE 795 389 384 411
BAAR—TH BEE 575 332 289 286
BAZTH 2 893 434 428 465
BFREZTH R 2,837 1,332 1,300 1,537
BEFRE=TH R 556 297 233 323
K P53 st 595 317 287 308
[l S T R 37 19 18 19
(L |- my R 902 412 443 459
FEIRE 2 ot 395 202 191 204
AL R 892 413 450 442
DM R 2,082 1,022 963 1,119
EIEE T R 106 69 69 37
EARHTTH R 154 89 75 79
ERH=TH R 1,135 545 533 602
ERETH % 250 162 109 141
R —TH % 189 88 86 103
E%_TH R4 808 498 348 460
E%-TH R4 536 325 270 266
/INBET At 270 131 130 140
SR R4 648 312 284 364
4 HHBHAT E5 30 29 8 22




SRl - T RIADHETR (ALAEHE - A
(%f%ESHE?%EI £EAR) B2 i an ) Jeb
HH—TH EW 491 207 241 250
MR _TH EY 68 41 30 38
A JERT W 304 137 143 161
A H ] W 1,028 461 443 585
fEI=ZHT W 509 312 233 276
ER—TH W 865 456 411 454
ER TH W 367 194 169 198
FLoit W 126 76 58 68
Rk W 216 103 105 111
HANE—TH W 1,905 880 879 1,026
FIAAE T H W 628 285 289 339
AE—TH W 48 23 23 25
AEZTH W 1,725 878 837 888
ERHE T H gk 35 30 15 20
ERHM T H gk 695 326 327 368
hkh—T H g 1,055 553 502 553
PR TTH ok 691 364 337 354
PR=TH ok 719 354 307 412
Hpy T H GES 1,763 769 849 914
HHT—TH ok 814 388 369 445
HET T H G 311 155 139 172
T =TH G 164 122 78 86
ST T A G 196 106 90 106
B ok 389 224 191 198
M gk 167 81 76 91
ERKHE—TH ok 99 81 48 51
MAZTH GAPAS 25 12 13 12
AE TH - 834 389 380 454
PEDLE A 1,054 481 486 568
5%—TH R 416 203 203 213
BT H - 603 273 289 314
B%=TH R i 1,114 531 514 600
BoHR A 715 292 328 387
5 -t 638 286 300 338
WA—TH -t 183 93 78 105
WMAZTH - 662 282 314 348




B4Rl - BT RIADMET R (BAL: 5 - A
(ORGESAS IR ey An i85 P febk

FIHi S 1,513 704 675 838
BN S 2,119 975 993 1,126
WZBDiE—TH g 646 297 299 347
WZBDk T H g 2,510 1,183 1,123 1,387
B =TH g 1,941 818 927 1,014
WZBOEMNT H g 1,452 561 719 733
A9 g 897 394 433 464
o B g 1,546 535 768 778
DRk &P 156 85 78 78
AR THT &P 1,014 533 480 534
HEF kT [T 373 198 177 196
FRARHT [T 124 64 59 65
EFr— T H HEPT 1,109 526 523 586
FEFT—TH [T 439 230 211 228
FLO P ET [T 1,015 540 496 519
ASLHT HEPT 1,431 924 612 819
FE—TH [T 1,772 838 825 947
FE_TH [T 1,098 504 539 559
T [T 829 450 380 449
2L REPT 1,176 531 585 591
PE—TH REFT 753 352 341 412
BR—TH REPT 571 274 278 293
BR=TH [T 728 318 342 386
W T 1,989 889 973 1,016
iR BT 511 236 252 259
& T,/ PY T JEHT 32 15 16 16
e 1 H T 177 99 88 89
ISR [EEs7) 2,040 863 1,020 1,020
BLRA [EEs7) 3,243 1,436 1,542 1,701
TR HT BHA 38 19 18 20
L EEN 1,537 723 775 762
L _—TH RN 1,056 402 599 457
L =T A ) X X X X
ES L] EEs7) 216 85 109 107
IERE=TH RN 635 288 294 341
NEG T 948 513 467 481




B4Rl - BT RIADRRETER (A - A)

(%f%ESﬂEH?l%EI %ﬁ'}\ M) 221K JNE| LR BB oMk
BT = 867 454 411 456
MY 5 Ja 1,237 620 575 662
IR BT 5 Jal 923 431 420 503
Ekiclil I L 2,391 1,072 1,158 1,233
ERE—TH 5 Jal 668 372 332 336
R -TH 5 Jal 1,015 480 524 491
SEpvaLil) 5 Jal 900 456 409 491
7S AT I Ja, 208 112 91 117
IL— T H 5 Jal 39 39 28 11
iR — 1 H I Ja 394 232 199 195
iR 1 H e 140 58 70 70
R I Ja, 1,185 559 551 634
Eo—TH e 4,197 1,857 2,017 2,180
Eo—TH i f 1,960 863 955 1,005
KK =TH i 535 257 264 271
A7 (LI SEHT £l 21 15 11 10
A | L ST £l X X X X
KFE—TH gt 1,284 703 604 680
KEZTH et 2,270 1,235 1,099 1,171
FHillF—TH il 59 28 25 34
AILSE =T H gt 1,016 449 476 540
AILSE=TH et 1,074 484 508 566
A LSE T H gt 810 326 421 389
ALSER T H et 544 258 278 266
FEE—TH gt 1,727 811 827 900
EHEETTH gl 1,239 599 592 647
JREMT FE R 1,081 494 521 560
A 1L TRT PR 79 74 38 41
A L FE T PR 4 3 3 1
A LN PR 25 12 11 14
A L F KT PR 60 28 31 29
THr—TH e 4 1,513 648 726 787
TR T H FE D 793 360 364 429
TH=TH FE D 145 67 70 75
THTUT H I 21 12 8 13
S (LT P 4 562 174 276 286




$Bhl - BT RIADMETER (ALAEHE - A
(%f%isﬂﬂ%ﬁﬁ EEPAD) B2 T ) e
FAAE— T H P 805 384 365 440
PR T H PR 1,719 764 815 904
=T H P 45 118 64 45 73
PRI T H P 1,212 529 577 635
PR T H P 1,097 467 535 562
FEAB AN T H 5a/i) 168 85 73 95
KA AT KA 5 5 5 0
KAHH—TH KA 9 5 4 5
RAEKR_TH KA 16 33 40 36
KAHK=TH KA 6 5 4 2
KAEHILT H KA 14 6 9 5
RA/AEE—TH KA 69 34 34 35
RA/HEE T H KA 29 13 16 13
KAHEM—TH KA 69 33 31 38
KAHEM —TH KA 42 22 18 24
KAFEM=TH KA 75 29 41 34
KAFEMM T A KA X X X X
RAHEM T H KA 28 13 14 14
RAHEMAT H KA 35 17 17 18
KAvE—TH KA 25 10 11 14
KAE_TH KA 29 16 15 14
KRAE=TH KA 121 53 60 61
KAEH—TH KA 101 57 53 48
RKAP-TH KA 118 47 55 63
KEF=TH KA 81 39 41 40
KEFMTH KA 453 171 227 226
KAPHT A KA 933 349 473 460
KEFATH KA 8 8 8 0
KAEFETH KA 141 48 75 66
KEHR—-TH KA 135 59 59 76
KAKRZTH KA 73 32 38 35
KAKR=TH KA 155 71 72 83
REHRMT H KA 583 274 282 301
KREHRILT H KA 715 336 349 366
KREHRATH KA 312 125 162 150
KAKRETH KA 34 16 14 20




BRI - T RIADMRETR
CHSITZIN)

(B3 AL HER A M) -
H14, XA FR NS
B iR 7
g)II—TH XA — -
KESEN -TH KA 2 i
KAE)=TH KA 5 i s :
KAE)IMTH KA 2 i : :
PEETH Mk 5 2 : i
HE=TH il is o : ”
] I 214 94 o 16
HTH Mt T T : 3
H=TH ¢ 8
Mk 5 9
H—TH o :
- Mk i -
H_TH " :
: ' z 46
H=TH y =
EHL = 51
BT H 515 :
Lk 143 76
B—TEH its :
EHL 14 176
= s 165 77 20 s
B=TH M.k y : : ;
= i 5
Lk 277 ;
BHTH m.E 7 ; . .
HARTH oo 6
nk 300 ;
LA oL 879 392 o 35
BLTH I 635 280 30 25
HEZTH H o6 78 L =
d—TH m.E st ot : :
E—TH i 91
. Ak 391 i
o =TH H 51 276 z -
FaEtlu T H HE = . z "
HHE—TH ) .
s X 297
HEgTTH S0 :
= ok 120 3
= I 580 277 276 504
HEHTH N -
s 217 304
AF—TH : E
s : 178
XK+_TH v 3
‘ H k= 2 5
BHE—TH H k- o T - :
it T L 187 86 a7 0
B =TH H - 7 > :
it T I 389 173 o o4
d89 195
173 195 194
146

11




5ZAl - T RIAD#ET R (B - A
(%f%ESHE?%EI £EAR) B2 i an s ) Sk

BE LT H RS 39 13 23 16
BHES T H Mk 797 364 390 407
PE—TH R 154 75 74 80
W—TH R 323 131 146 177
W_TH R 31 12 12 19
W=TH R 4 4 3 1
VB —TH R 260 119 123 137
FEFTH R 46 27 21 25
HhEF—T H R 283 123 129 154
HE T H R 21 8 10 11
e =T H @k 33 15 17 16
ZHR—TH @k 159 84 85 74
H—TH @k 167 72 78 89
W _TH @k 39 17 20 19
#ie— 1T H @k 16 7 8 8
Brte T H @k 142 61 70 72
KSE @k 157 72 77 80
HL—TH 1 595 248 293 302
HIL-TH =il 567 206 268 299
HIL=TH 1 668 247 331 337
HLPTH 1 639 276 309 330
HILHTH 1 379 156 183 196
HILATH 1 716 261 343 373
HILETH =il 712 261 344 368
HIWNTH I 1,132 361 555 577
WmAE—TH Il 643 210 336 307
WmAE_TH il 635 195 313 322
WMAE=TH il 714 202 361 353
AN T H Il 406 109 200 206
WMAEETH Il 1,032 286 523 509
WMAEATH Il 238 111 127 111
mAEtETH HIl 731 212 370 361
- _EHAZERT #H X X X X
f4—TH # 466 212 208 258
M4 TH #H 290 123 148 142
HilE=TH #H 60 30 30 30
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B4Rl - BT RIADMET R (BAL: 5 - A
(ORGESAS IR ey An i85 P febk

W HE LT i 25 32 21 24
KiIL—TH T H 2,410 785 1,188 1,222
KIL_TH T H 1,584 733 779 805
KIL=TH T H 1,427 671 700 727
KILMW T B T H 1,724 177 830 894
KILFHT H T H 2,616 1,134 1,288 1,328
KILANTH T H 2,576 981 1,238 1,338
KLt T H T H 1,486 695 753 733
KILNT H T H 504 255 274 230
KHi—TH i 43 35 20 23
—HIUETH WE H 508 153 245 263
e T I X X X X
WHH—TH A M R 1,192 540 566 626
1 H I 842 449 304 448
WHH=TH A M R 1,746 745 847 899
WHHIY T H A M R 228 133 94 134
WHH AT H A M R 1,277 645 622 655
WHHOS T H WA MR 106 52 47 59
fieE—T H WA MR 518 266 252 266
T H WA MR 2,249 1,014 1,083 1,166
tE= T A I 824 308 386 438
A —TH WA MR 1,373 598 673 700
A T H WA MR 1,305 586 607 698
= K5F WA MR 949 563 412 537
Bkl WA MR 718 293 354 364
KIL-TH WA ES 268 144 136 132
KIL=TH WA ES 417 213 185 232
*EVEIEIT E WA ES 66 23 33 33
G — WA ES 96 35 49 47
A FE'#TH WA ES 318 110 161 157
k= WA ES 502 166 248 254
i i 1 188 57 95 03
KILW T H EES 31 20 12 19
—HB|I—TH A B 1,838 967 878 960
—BII-TH EES 1,257 590 588 669
—HIU=TH EES 1,809 861 884 925
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5ZAl - T RIAD#ET R (AL At A7 - A)

(%f%iwm%;l EEPAD) R4 T o R 2 H L
—HLETH W R 2,297 1,062 1,098 1,199
—HIIETH W 1,854 889 886 968
Him—TH HE T R 170 136 100 70
Him T H HE T R 1,159 485 568 591
Hig=TH HE T R 2,740 1,102 1,388 1,352
SEHRHT HE T R 340 142 160 180
—HIIATH HE T R 593 221 297 296
AT H HE T R 591 259 275 316
w1 H HE T R 738 330 343 395
KE—TH HE AL 1,930 1,161 939 991
# TH WAL 1,828 894 900 928
HE=TH WAL 1,339 655 671 668
KEMTH WAL 1,621 695 809 812
REHTH WAL 2,673 972 1,307 1,366
KREANTH WAL 1,548 609 800 748
RELTH WAL 1,830 786 893 937
5 WAL 2,110 961 996 1,114
KfF#HE—TH HE AL 2,132 965 1,044 1,088
KfF#E T H HE L 615 375 311 304
KfF#E=TH HE L 1671 782 821 850
Al 343,371 157,531 165,258 178,113
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